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AN AAX A B
M pAMY D
Chel oI A e A HH)
- B2 (3) - NRAY - B S il ot
Ogl &0t 2l Xl (JH el 2 0F) 1,800
Ozl®=+ 300,000 =3 900
OR= 200,000& »3H 600
Oo&d 100,000 =3 300
OQ A0t el X (2 AHEIL) 1,300
Oxl2=+ 300, 000& *2J4 £ A 600
OR= 200,000& 200 & M 400
O&d 100, 000 *30H = A 300
I 22 24,531 1,499
= 24,531
101 Q124 H] 16,200 141
= 16,200
04 DIt Z22XsSE* 16,200 141
mOEALI =014t 288 Z8)
16,200,000& 16,200
= 16,200
et 4,431 1,298
= 4,431
01 At 2teltl 4,431 1,298
moALS AR5 P2 =S 2,391,000& 2,391
= 2,391
m = &l 2,040
ONAYER =& 54 2,040,000 2,040
= 2,040
202 o4 Hl 3,900 60
= 3,900
=L O I 3,900 60
mHAEHR = 3,900,000 3,900
= 3,900
SEEPE e 106,885 A 3,060
= 34,750
Al 72,135
B2 HH| 42,565 1,140
= 20,350
Al 22,215
01 AFR 22l 42,565 1,140
(w & Bt~ Z H| 38,245
OFUSES - == X 27,000& x2008 & 5,400
o2 EX 69,500 1702 A 11,815
(OFENER— 5,000,000& 5,000
ONZSZHSSLRFE SAEX 7Y
5,000,000& 5,000
= 5,000
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Mg ox A
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M. 0 (3H) - HEAY - B2 ﬁlf& HD=2
OEENSEgesd Hed EH 7Y
5,500,000& 5,500
= 5,500
ONEVAHS2YL =T MRSE 7Y
5,530,000& 5,530
= 5,530
w2 & | 4,320
OIIEZRAHSELR F4 4,320,000& 4,320
= 4,320
202 04 dl 14,400 0
= 14,400
01 2L Y| 14,400 0
EIIE2RHEELR =X 14,400,000 14,400
= 14,400
308 XX SHAMSOIA 49,920 49,920
10 B 2SO USE AN AIS Y 49,920 49,920
mFUSES HE 49,920
O A 7 M & 3,000& 3,800 11,400
oMg= 3,000& *1,070¥ x12& 38,520
CRE EXXSa 420,270 35,491
= 28,800
o= 3,200
Al 388,270
SSHo EX#HA =X 420,270 35,491
= 28,800
& 3,200
Al 388,270
Mz ze 26,500 12,290
201 et Y| 25,300 A 10,690
01 AtS 22l bl 25,300 10,690
OEEES=Y 24,250
O=EHIEE S22 100,000& 100X 10,000
OHIE®X EMEH sSSE2
10,000, 000& 10,000
oOZglH &Y 200, 0003 45 =2\ 1,600
OXA Ot&2EX S 25,000 x508F A 1,250
ONEZTY 425 L 22yl
100, 000& «9& 900
OARESHI 500,000& 500
D=l 1,050
OXNESZHHUZAL L OIS K XA
7,000 *x3Y¥ x50 1,050
202 04 d| 1,200 A 1,600
01 2L Y| 1,200 A 1,600




SA: PRXED
Ha: OXNE EXNFSY

ool BB EXNHY =X (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
EEEEEIENEEET
20,000& 3% 20 1,200
NESSHFZ2UE HoF FA 27,340 29,100 A 1,760
201 Bt 4,800 4,800 0
01 At 22l bl 4,800 4,800 0
m] 2B~ 2 H| 4,800
ONNEHUSHBLUANAY ST22
400,000 x12& 4,800
207 A IR &b 22,540 24,300 A 1,760
02 & AR Y| 22,540 24,300 N 1,760
mXEse 2T MAG FA 22,540
oO=E=EZ2 T 6,600& *1,9000H 12,540
O35 &celZoAN 500& *20, 0000H 10,000
HE Z AKX I ZAFAA 145,007 135,954 9,053
101 @121l 17,009 15,967 1,042
04 JIZtHIZ22NSE S 17,009 15,967 1,042
mSAIXI SR EXR 17,009
(@FslE=gel! 48,2403 1 %248 11,964
(OFca=E=2"E gy 48,2403 »1H »52 2,509
OHXNRSEFIIH 48,240& x1H x 12 579
o422 B8 15,052,000& *13% 1,957
201 Bt A H| 122,398 114,387 8,011
01 AP 2t2l bl 122,398 114,387 8,011
m 2Bt~ 2H| 118,548
OEXNEHLHXZAIE S 2l
30& %20, 00000 x23] 1,200
OMoIXZ M= 30,000& *305 *53] 4,500
OXIt 28 Z283EI ==& 73,712
o111 JI&E HdEsr2 38,964,000 38,964
O7.1¥ JlE 852 25,820,000& 25,820
OoANMESKI =2 4,464,000 4,464
OO0IQAHEXIN &2 4,464 ,000& 4,464
OZ2H EX 2,100
OAE EX F2¢ 40,000& *302 1,200
OAE EX #¢ 30,000 x302 900
OE2H «¢3 269,000& x4& 1,076
oXgNE g 550,000& x152 *13] 8,250
o8+ H& 50,000& ~190H x4 3] 3,800
O& A2 X (802 &) 24,000 *30 A 720
OXNMEZS(EYH) 250,000 =44 1,000
OHMIE(ZHEZZE E14) 365,000& 64 2,190




SH: RIRT D
u: (XY EXNZSY
o9 EEXQ EXNYH =X

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMLREs B M4Fx=R2
5,000,000& 42 20,000
m2d+g 3,850
ORSUBIIRVE AV SIQAFA 2
70,000 x 11 x53] 3,850
202 044l 1,600 1,600 0
01 SLHOIYI 1,600 1,600 0
WHLRYZ 2W - e YLFT
20,0003 »2H 402! 1,600
802 Btet= DI Et 4,000 4,000 0
03 Ug=S 4,000 4,000 0
EIHERES &5 =8 4,000,000 4,000
fSatztel 8,420 14,938 26,518
201 Let24d] 7,220 12,538 A5,318
01 At 2teltl 7,220 12,538 25,318
w2 Bt~ Z H| 6,800
ozHEZEH EU 700,000& *43] 2,800
O=AMEX 25,0003 80 A 2,000
oZEA L REE M 400,000&*x2E+13] 800
ogEsE 4223 100,000& =122 1,200
m = &l 420
OfRsd3HEL NEHS
7,000 x2H %302 420
202 oddl 1,200 1,400 A 200
01 = LH o4 1l 1,200 1,400 A 200
m] = LH O 1 1,200
ORSMSHYAL NEEHH
20,0003 x2H +30! 1,200
M= AAHS 125,300 111,001 14,299
201 Let2dE] 30,250 30,505 A 255
01 At 22l 30,250 30,505 A 255
w2 Bt~ Z H| 28,290
OZ=z2H X 17,5002 1002 1,750
O2=2H 232 45,0003 x 164 720
ozZHZEH EU 420,000& x 104 4,200
022 ¥ Zgd |X 224
1,000, 000& 1,000
oAtz X 2 (Aa2)
3,000& 5004 1,500
ot ¥ =9 M= 65,000 <48 0H 3,120
OZ2HFA BE 23 1,000& *8,000H 8,000
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o2 X = ot

B (XY ENZPY
ool BB EXNHY =X (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
oO=zdxA XS CHUXNE oY
1,000& *8,000% 8,000
D=l 840
OEREEAL AT T ZA
7,000 »3H x40 840
wmgsY 1,120
OE2YFLANS Y FHABM 2T
70,000& *8H x23] 1,120
202 (4] 1,000 1,000 0
01 2L Y] 1,000 1,000 0
mE2HFA RN 20,000& x»2H x5 1,000
308 AXISHAMSOIHA 10,900 0 10,900
10 SISO SHEAX AN HI 10,900 0 10,900
m2INFAEEANAY 2 10,900
OGISUHZA AZTEANH RALZ= 2,387,000 2,387
O=INFAEEBAALY 2HXA  8,513,000& 8,513
401 AIEHIL 20| 83,150 70,000 13,150
01 Al BI 83, 150 70,000 13,150
mEZHFA OHHAIE &EX & SAE* 83,150
oz gH 20,000,000& 20,000
(OFai—guk=Rt; 10,000,000& 10,000
OJ|lx=Hsm 10,000, 000& 10,000
ORNESx 84 20,000,000& 20,000
O Kl & O LY & 20,000,000& 20,000
OXtsg HIHTH 3,150,000 3,150
COXE XN&E 2= 46,238 36,602 9,636
201 2yt 2 Y| 45,398 31,262 14,136
01 AFR 2t 2l bl 45,398 31,262 14,136
m B2 Y| 4,350
OZegH EY 200,000& *4Z =24 1,600
O=AESA 7Y 25,0003 x508F A 1,250
O8x=2 4 =22 HE 50,0003 104 *23] 1,000
OANFRES 500,000& 500
mAHASKH NHEHSALY 72,000& x504 &= = 36,288
IR =y 4,760
OXNHEHEZARE S 70,000& x5H x4 3] 1,400
OZdAHZEHAAS 70,000& x6H x4 3| 1,680
OSSEXNZERAZ 70,000& x6H x4 3] 1,680
301 Bt A= 840 988 AN 148
09 HALAHIEA = 840 988 N 148
mALAIHI 2 AS 840




SA: PRXED
Ha: OXNE EXNFSY

ool BB EXNHY =X (ol @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OXNEIHEAAIS (RE AI20tES) =01 H 3|
A& AHEA 7,000 %120 840
EEYHFAINEE RANES 6,265 18,394 N 12,129
308 XNXIEHMSOIA 6,265 0 6,265
10 B2 SHOHSHE A A CHEH A 6,265 0 6,265
MEREFTAINE2E SFABFAIY 6,265,000 6,265
X ZTHZEAFAIES 35,200 0 35,200
= 28,800
& 3,200
Al 3,200
201 LBt Y| 33,200 0 33,200
= 28,800
& 3,200
Al 1,200
01 AP 22| d| 33,200 0 33,200
mXENEA ESFLLE2 32,000,000 32,000
= 28,800
& 3,200
D=1l 1,200
OKXNEIHEA HEF=Z 1,200,000 1,200
202 04| 2,000 0 2,000
01 2L Y| 2,000 0 2,000
WASHEA QENEA L S2AL ZX
2,000,000& 2,000
XNeldE 637,905 291,405 346,500
ANeldEe &8 2 2= 637,905 291,405 346,500
E22 XotAIEZ2 dlole 22l 205,405 182,905 22,500
201 LBt Y| 114,405 113,905 500
01 AP 22| H| 92,105 91,605 500
(m] 2 BE4 2 H| 91,125
OEZ=2H 21X 17,5002 = 10K 175
OEZH 23 45,000 « 104 450
Os8IZIH &Y 250,000& = 107K 2,500
OZ22tUIOIEHBIOIA(S/WhAl) X 24
15,000,000& 15,000
OXCIHEAAH(S/WA!) SXE =
20,000,000 20,000
OFHMESS A AL (S/W3A) SXE%
30,000,000 30,000
O=2DJ122tE 2 S A (H/W2A! | S/Ws4l)
23,000,000 23,000
mE2ds= 980




SH: RIRT D

M XeldEe

Sl X2ZE 28 ¥ 25 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FEEEEFEEEEEEES]
70,0003 +x7H %23 980
02 =224l 22,300 22,300 0
mE32= 2 HA 300
OGPSE=E & Hl OlssSd 2= 25,0003 128 300
m A€ ZHl S X 22,000
OXelHE 2 MAZH (H/WA) R
22,000,000& 22,000
202 044l 1,000 1,000 0
01 = LH o4 1l 1,000 1,000 0
(w] = LH 4 HI 1,000
OZUEE HRFX 20,0003 »2H »252 1,000
401 Al HIZ 201 Y] 90,000 60,000 30,000
01 A& HI 90,000 60,000 30,000
W29 XGHAIES(&=,6t=) BRS
90,000, 000& 90,000
HHA 2323 FALAXNE HH 420,000 96,000 324,000
403 X SHHSA=0l& 420,000 0 420,000
02 I 2S0CHEt A =& OH & At H 420,000 0 420,000
meEEE FANSY ¥ =AXNEE MEH A
HY 420,000,000 420,000
SHEEXNZEANAE X2l 12,500 12,500 0
201 £B-2%| 12,500 12,500 0
01 At 22l 12,500 12,500 0
w2 EL2H Y| 12,500
OSIFEXHEBAIA (H/W 24!, S/W 641) =
XNE= 12,500, 000& 12,500
HE2HZH(2E XA D) 257,065 270,893 A 13,828
ol 2 gl 104,665 104,093 572
ol 2AY| 104,665 104,093 572
101 @124 dl 104,665 104,093 572
03 RIHAZ 2 E+ 104,665 104,093 572
WORN YD BEA(HE - 2F I} X2) 104,665
oJ123(13ss) 1,262,050 x4H 123 60,579
odNZ3(VI=2S+2AEXRH+REE XZHI)
1,452,050 & 4 X x400% 23,233
(O I=E=I] EE=s 51,4003 »4H 22 4,524
(OF=Ea-- N 90,000 x4 » 128 4,320
OunsE2 Xl 100,000& x4 «12& 4,800
OZFEEFOtHI 1,262,050 «4H «100% 5,049
OPIE=E=s 2,160
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EPE
M M2 AH|(SIRX =)
Sel: o2y (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Ot Xt 40,000 x2H x 12 960
ORAIE 20,000 x5H x12& 1,200
JlE&ddl 152,400 166,800 A 14,400
Jl2AH| 152,400 166,800 AN 14,400
201 et 9| 53,940 59, 160 N5,220
01 AFR 2t 2| bl 53,940 59,160 AN5,220
m 2Bt 2 H]| 27,900
OJle A3 5,000& *x31H x12& 1,860
OZAN2E =2H| 70,0003 «31H x12& 26,040
DEE] 7,000 #3128 x10 x12& 26,040
202 044 93,000 102,000 A 9,000
01 2L I 93,000 102,000 A9,000
m2AL =& 200,000 x31&H x12& 74,400
m 22 =& 50,000 «31H x12& 18,600
203 € R F & 4,260 4,440 A 180
04 EASHEIRFAH| 4,260 4,440 A 180
WEN2Y HRETH(FH:31Y) 4,260
© 1521 =1} 302!0| 5t 350,000 x12& 4,200
©31210[4 1= 1Al 5,000& =t
5,000 x1H ~12& 60
204 &R A H| 1,200 1,200 0
01 MEESHRSHAH| 1,200 1,200 0
m A (52 EX0|H) 100,000 x 128 x12& 1,200




